@

M.f \

JINI)

311

Not included
with No. 39

MODEL SWB8SQ, SWB8SQE

2/05/2015

REV. F

STAR MANUFACTURING INTERNATIONAL, INC.

SK1606



PARTS LIST

June 11, 2008, Rev K

Model: SWB8SQ, SWB8SQE Waffle Baker

Fig. No Part No. Qty Description Application
1 21-Z0057 4 FOOT RUBBER
B9-73006 LEAD IN CORD 120V 15A 120V
2 B9-73028 1 LEAD IN CORD 240V 240V
B9-73029 LEAD IN CORD 230V CE 230V
3 B9-Z1723 1 COVER-BOTTOM
4 2E-Z1858 1 SWITCH 20A/120V MOLVENO
5 2J-71836 1 TIMER
6 B9-73004 1 BODY ASSEMBLY
7 B9-Z1845 1 FRONT SUPPORT
8 2P-Z1735 2 PLUG CAP 3/4
9 2C-Z1734 2 COUPLING 1/4-20
10 2C-08-07-0064 1 ACORN NUT
1 B9-Z21830 2 CuP
12 B9-21831 2 CUP SUPPORT
13 2A-Z2644 2 SPACER 3/8X0.035
14 B9-21832 2 PLATE
2N-Z2841 ELEMENT 855W 120V 120V
1 2N-Z2249 1 ELEMENT 855W 240V 240V, 230V
16 2C-21674 2 STUD 1/4-20 X 2 1/4
17 B9-Z1780 1 GRID 8" SQUARE BOTTOM
18 2R-09-WB-0027 1 HANDLE BLACK 3/8-16
19 2A-Z2607 1 SPACER
20 B9-Z1779 1 GRID 8” SQUARE
2N-Z2842 ELEMENT 790W 120V
21 2N-Z2248 ! ELEMENT 790W 240V
22 B9-85016 1 CUP SUPPORT SQUARE ASSEMBLY
23 B9-85015 1 TOP HINGE ASSEMBLY
24 B9-Z1764 1 LOWER HINGE MACHINED
25 2A-Z2643 2 SPACER 1/4X0.028
26 B9-Z1998 2 HOLDER THERMOSTAT
27 2T-Z2043 2 THERMOSTAT
28 B9-Z1724 1 COVER-BACK
2E-05-07-0351 TRANSFORMER 115/10V 6VA 120V 120V
29 2E-05-07-0350 1 TRANSFORMER 230V/10V 6VA 240V 240V
2E-Z2974 TRANSFORMER 230V/10V 230V CE 230V
30 2E-Y9050 1 TERMINAL BLOCK
31 B9-Z1859 1 PLATE-COVER-HINGE
32 B9-Z1835 1 SPACER
33 B9-Z1760 1 DRIP TRAY (not shown)
2E-05-07-0352 RELAY 30 AMP 120V
M 2E-Z2890 ! RELAY 25AMP 230V CE 230V, 240V
35 2E-Z2145 2 FUSEHOLDER 230V CE
36 2E-Z2146 2 FUSE CARRIER 230V CE
37 2E-Z2147 2 FUSE 8A 250V 230V CE
38 2M-Z2108 1 SIGN SWB8SQ
39 B9-40-WB-0046 AR KIT,ARM TERMINAL ASSEMBL
40 2C-08-07-0137 2 SCREW 8-32 X 3/4 HEXHD
41 2C-08-07-0221 4 WASHER 7/160D/3/16ID18GA
42 Z1-08-07-0025 2 MICA 1.50 C 1.75
43 2C-08-07-0025 2 WASHER .072THK CERAMIC
44 2C-H8670 2 WASHER, SS #8 INT
45 2C-2556 2 NUT 8-32 HEX STL NP




